
Mounting instructions

1-890/1-891

Workbench LD Mobile Sheet Metal

Side shelf (opptional)

Table mat (optional)



 

 

Mounting instructions

1

2

M10x20

M8x20

Square nut inside c-profile



 

 

 

Mounting instructions

3

4

M8x20

Small holes up

TRX 5x55 (H-frames)

TRX 6x20 (C-profiles)

Tabletop centered



 

 

Mounting instructions

5

6

Sheet metal cover

TFX 4x20

If optional side shelf is used. Ignore this step and continue with next.

Lower shelf centered

TRX 6x20 (C-profile)

TRX 5x55 (H-frames)

5



 

 

Mounting instructions

7

8

M8x16

M8x16

M8x16



 

Mounting instructions

9

10

TRX 5x55 (H-frame only this side)

TRX 6x20 (C-profile)

10

Table mat (optional)



Mounting instructions

11


